Discussion class notes : FAC1503

Financial accounting 
the provision of financial information to mainly external parties 

recording of transactions and the preparation of financial statements 

Management accounting 
the provision of financial information to people within the entity 

financial information for specific purposes. 
Elements by which the financial position is measured: 
(1) Assets 

(2) Liabilities 

(3) Equity 

Elements that measure profitability (Profit or loss): 
(4) Income 

(5) Expenses
resources controlled - as a result of past events - future economic benefits expected to flow to the entity {ASSETS}
present obligations - from past events - settlement result in an outflow of resources from the entity {LIABILITIES}

{the financial position}
Net asset value is the difference between: 
the value of assets owned by an entity and the 

liabilities it has incurred 

Equation: 
ASSETS - LIABILITIES = NET ASSET VALUE 

(EQUITY) 

Basic accounting equation (BAE): 
A = E + L 

E = A – L
{the double entry principle}
Every transaction affects two or more items in the BAE. 
Transaction must be recorded in such a way that the equation remains in balance. 

The dual effect which each transaction has on the elements of the BAE is the fundamental 
principle on which all entries in an accounting system are based

To make a double-entry you must: 

•Think about the effect of the transaction on the BAE, thus how it is going to affect the financial position of the entity. 

•Identify the components (accounts) which are involved. 

•Determine the account(s) to be debited and credited. 
•The amount(s) debited must be equal to the amount(s) credited. 

•Indicate the date of the transaction. 

•Indicate the contra ledger account. 

•Indicate the folio number of the subsidiary journal. 

{the financial performance}
The financial result - measured in terms of the profit or loss made over a specific period, 
normally a year. 

Profit - when the income it has earned is more than the expenditure it has incurred. 
The difference between the income and expenditure - profit or loss. 

Profit is the owner's reward for the capital invested and the entrepreneurial spirit shown. 
Profit therefore increases the equity 
{the accounting process}
•The accounting process starts once a transaction has taken place 

•These transactions can either be income, or expenditure transactions. 
•Each transaction has an effect on two or more items in the basic accounting equation (BAE), which is the basis of the double-entry principle. 
•Therefore, transactions must be recorded in ledger accounts using the double-entry principle. 
•After all ledger accounts have been balanced, a list of balances, called the trial balance, can be drawn. 
{the general ledger} page 39sg
Assets (eg Bank) increase on the Debit (Dr) side and decrease on the Credit (Cr) side of the account. 
Equity (eg Capital) and Liabilities (eg Creditors) increase on the credit (Cr) side and decrease on the debit (Dr) side of the account. 
Income (eg sales) increases equity and are credited (Cr) to the particular income account. 
Expenses (eg wages) decrease equity and are debited (Dr) to the particular expense account.
{the trial balance}
A trial balance is a list of all the balances brought down (b/d) from the accounts in the general ledger on a specific date. 

Golden rules 
The balance “brought down'' (b/d) must be used to prepare the trial balance. 
Asset and expense accounts have debit (Dr) balances brought down (b/d) and are entered on the debit side of the trial balance. 

Equity (capital), liability and income accounts have credit (Cr) balances brought down (b/d) and are entered on the credit side of the trial balance.
{vat}
Tax levied by Govt on the supply of goods and services 
Comprehensive tax – virtually on all goods & services 

Current VAT rate – 14% 
Must register as VAT-vendor if taxable supplies exceeded R300 000/R1 000 000 in preceding 12 month period 

Two types of supplies: 

Taxable supplies: 

Standard rate (14%) 

Zero rated (0%) - (Vendor may claim input VAT) 

Exempt supplies (Vendor unable to claim input VAT): eg. Brown bread, petrol & oil, financial services etc. 

Output VAT – Input VAT = VAT payable to SARS 

VAT on eg. settlement discount received when payment is made to creditors = Output VAT & not must not be deducted from Input VAT. 

Calculation of VAT on amount excluding VAT: 
Amount without VAT R100 

VAT (14%) + R 14 
Amount VAT inclusive R114 
Calculation if amount was VAT inclusive: 
Amount VAT inclusive R114 

Calculation of VAT: R114 X (14÷114) = R14 

Amount without VAT R100 

{bank reconciliation}
Bank statement – received from the bank – shows transactions that occurred during month 

Bank reconciliation Ascertain that the bank account in books corresponds to bankstatement 

Balances 
Favourable (debit on bank account) 
(credit on bank statement) 
Unfavourable (debit on bank statement) 
(credit on bank account)
{what to enter where?}

Items on bank statement not in journals 
If entry on debit side of bank statement –enter in cash payments journal 
If entry on credit side of bank statement – enter in cash receipts journal 
Except if error – correct on bank reconciliation statement
Items in journals not on bank statement 
If entry in cash receipts journal – enter on credit side of bank reconciliation statement 

If entry in cash payment journal – enter on debit side of bank reconciliation statement 

Except if error – correct in journal 

- If error in cash receipts journal enter in either cash receipts or cash payments journal 

- If error in cash payment journal enter in either cash receipts or cash payments journal
{trade and other receivables}

Settlement discount granted
Credit losses

Allowance for credit losses

Debtors control account

{settlement discount granted}

A settlement discount is granted to debtors to encourage a quick settlement of their debts
{credit losses}

The debts that are never paid are known as credit losses / irrecoverable debts

Writing off a credit loss
-Debit credit losses account

-Credit debtors control and individual debtors accounts 
{debtors control account}

What should be entered on the debit side
-Balance –beginning of the month

-Sales of goods (credit)

-R/D cheques

-Discount cancelled

-Interest charged on overdue account

-Transfers from creditors control
What should be entered on the credit side
-Sales returns of goods (credit)

-Payments received from debtors

-Settlement discount granted

-Credit losses

{inventory}

Opening inventory –beginning of financial period

Closing inventory –end of financial period

Forms part of cost of sales in statement of comprehensive income

{property, plant and equipment}

Cost price

Purchase price of property, plant and equipment

Depreciation

-Straight line method

-Diminishing balance method 

{cost price}

Purchase price, including expenses to get the asset to the premises

Installation costs including wages of technical personnel

Costs to get the asset operational
Remember only costs incurred to get the asset operational
{depreciation}

Cost of the asset is written off against the income earned over the useful life of the asset

Depreciation is the systematic allocation of the depreciable amount of an asset over its useful life.

Method must be a fair allocation of the cost

{word definitions}

Cost price–value at which asset is recorded in the books on date of acquisition

Useful life–is determined in terms of time, production or service

Residual value–amount the entity expects to obtain for the asset at the end of the useful life 

after deducting expected cost of disposal

Depreciable amount–cost of asset less residual value (not all methods)
{straight-line method}

Equal amounts are allocated to each accounting period over the total useful life of 

the asset

Instructions can be given as 20% p.a. on straight-line or over 5 years

Entries to be made in the journal (example) 

Dr Depreciation account

Cr Accumulated depreciation: motor vehicles 
{diminishing balance method}

The valueof the asset decreases more in the first year of use than in the last year

Method results in a consistently decreasing depreciation written off

A fixed percentage(%) is written off on the carrying value of the asset

To calculate depreciation use %x (cost price less accumulated depreciation = carrying value)
{current liabilities}

Trade creditors

Sundry current liabilities:

-Accrued expenses

-Income received in advance

-Instalments on borrowings

-Taxation payable

-Bank overdraft
{creditors control account}

What should be entered on the credit side
-Balance –beginning of the month

-Purchases of goods (credit)

-R/D cheques

-Discount cancelled

-Interest charged on overdue account

-Transfers to debtors control
What should be entered on the debit side
-Purchases returns of goods (credit)

-Payments made to creditors

-Settlement discount received

{difference between list and creditors control account}

Errors in posting

Incorrect balancing of accounts

Incorrect totalling of columns in journals

Incorrect listing of a balance

Omissions in posting

(theory questions}

Chapter 14(study guide)

-Trust and business money

-Transfers

-Trust creditors

-All theory

Chapter 16(study guide)

-All topics
{analysis and interpretation}

Formulas

-Liquidity

-Profitability

-Activity

-Solvency

Know the formula and apply to the information given
{current and acid test ratios}

	Current ratio

	Current assets

	Current liabilities

	Acid test ratio

	Current assets –inventory

	Current liabilities
{gross profit percentage}

Gross profit    x     100


Sales                         1

{profit for the year percentage}

Profit before tax
x
100

Sales



  1

{trade receivables collection period}
Average trade receivables     x   365
Credit sales


    1

If the opening and closing balances are not given to calculate the average, use only the closing balance.
{trade payables payment period}

Average trade payables
x
365

Credit purchases


   1

If the opening and closing balances are not given to calculate the average, use only the closing balance.

{inventory turn over rate}

Cost of sales

Average inventory

{number of days inventory on hand OR inventory holding period}

Average inventory
x
365

Cost of sales


   1

{solvency ratio}

Total assets

Total liabilities

NOTE: EXAM TIPS

Answer all the questions

Start each question on a new page

Show all calculations

Always commence with the question (topic) you know best first

Stay within the time allocation per question

Do not panic, stay calm, focused and relax

Accounting is a challenge –go for it

